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SECTION-A
i) General Awareness

Where does the river “Indus” originates ?
(A) Amarakantak, Madhya Pradesh
(B) Talakaveri, Kodagu, Karnataka
(C) Mansarovar, Tibet

(D) None of the above

The most of the part of India receives

rain fall from

(A) North-east monsoon
(B) South-west monsoon
(C) North-west monsoon

(D) None of the above

The playing time of the full version of

the National Anthem is approximately
(A) 52 seconds
(B) 50 seconds
(C) 48 seconds

(D) 20 seconds
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4. National song Vande Mataram was

composed by

(A) Rabindranath Tagore

(B) Bankimchandra Chatterji

(C) Muhammad Igbal

(D) None of the above

Pradhan Mantri Jan-Aushadhi Yojana

is a flagship programme of Central

Government, comes under

(A) Ministry of Health and Family

Welfare
(B) Ministry of Finance
(C) Ministry of Chemicals and Fertilizers

(D) None of the above

“World Economic Outlook” report
released by

(A) WTO

(B) IMF

(C) FAO
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(D) None of the above
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1. “fay Tt o sgm el @ ? 4. TR i 92 waE R @
(A) THTEHH, T vl I
(A) sy 3R
(B) TR, ST, FAleH '
(B) aferug sl
(C) A&, fese
(C) HEwTE ShaT
(D) 3% H @ IS e (D) 3 H & 1S T

2. WA % Afer i # __ Jawi Bt 2
(A) ITR-Jd AT
(B) af&ror—ufeem wrgm
(C) S-ufe=rg wHEd
(D) I o & =S 7
3. USHTH & YUl TR ! S ol G°
i .
(A) 52 UFe
(B) 50 &g
(C) 48¥hs
(D) 20&g
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(A) e IR UG FHegmr T
(B) fora waer

(C) T 3R It HAed

(D) 3% & & g e
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(A) WTO
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(B) IMF
(C) FAO
(D) 3% T & IS A&l
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When was National Consumers Day
observed every year ?

(A) December, 24t

(B) November, 3

(C) September, 22nd

(D) None of the above

What is theme of UNO (United Nations
Organization) for the year 2019 ?

(A) International year of pulses

(B) International year of millets

(C) International year of indigenous
languages

(D) None of the above

“Vajra Prahar” a joint military exercise
between which of the following countries ?

(A) India and USA

(B) India and UK

(C) India and Japan

(D) None of the above

Druzhba Ill a military exercise held

between which of the following
countries ?

(A) India and Russia
(B) Russia and USA
(C) Russia and Pakistan
(

D) None of the above
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14.
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Which of the following rivers are east
flowing rivers of peninsular India ?

(A) Godavari and Mahanadi
(B) Narmada and Tapi
(C) Netravathi and Sharavathi

(D) None of the above

Which type of climate prevails in India ?
(A) Tropical monsoon type

(B) Mediterranean type

(C) Subtropical Humid type

(D) None of the above

Montreal protocol is the multilateral
environmental agreement that requlates
which of the following ?

(A) Substances that causes the green
house effect

(B) Substances that causes the acid
rain

(C) Substances that deplete the ozone
layer

(D) None of the above
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Every year “World Wetland Day” is

celebrated on

(A) 2" February
(B) 2" March
(C) 22nd April

(D) None of the above



E’E indiresult.in whatsapp - 9352018749

7.

10.

i T st feaw e waman sman
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(A) 24 fegst

(B) 37dsR

(C) 22 fga=:

(D) 3% H & =1 T

a9 2019 ¥ TIH TS TH 1 $5g W&
g7

(A) 2Tl T ST o

(B) ST %1 STy a9

(C) Tl et 1 AR o

(D) 3% H & HIS TE

“ oSl TER” U g a1 o e
# 9 T 29 % ofte gam ?

(A) T 3 qTET

(B) W 3T I

(C) YRd 3R 9=

(D) 3% H | 13 7L

Foo1 111 G 81 1 Feferfiaa o & fam
<9l & o= ge ?

(A) ¥RE 3R &F

(B) ¥ 3R L&Y

(C) && 3R yrferea™

(D) 3I% & | FIE 7
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Afear gd it IR T B 7
(A) el 3R 7REE
(B) THaT 3R ard
(C) ==Taet 3 IRTael
(D) 3§ A 1S T
Wi H e WeRR 1 STetarg w2 7
(A) IWIHICTH N AHYA T
(B) YHEIHNRIY YR
(C) JUTTRIEHLT T8 ThK
(D) 3 & & IS 7
Hifeaa Tereriet sgufia wtervia gl
Frferiaa o @ o fafafiq a2 ?
(A) 3 uErd St gfd T gaTe o @
(B) o 9eref S 3rrera| od 8
(C) A vered S 3N 9T T &0 L &

(D) 3% H 9 g A&

wioad “fova smdyfy fesm”
F T ST R

(A) 2%Ed

(B) 27

(C) 223l

(D) I | & g T
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15.

16.

I

How many members to be nominated
by the President for Rajyasabha, which

is envisaged in the Indian Constitution ?
(A) 10 members

(B) 12 members

(C) 15 members

(D) None of the above

What is the maximum strength of the

Loksabha, which is envisaged in the

Indian Constitution ?

(A) 545

(B) 543

(C) 552

(D) None of the above

Who presides over the Chairman of the
Interstate Council ?

(A) Prime Minister

(B) President

(C) Loksabha Speaker

(D) None of the above

18.

19.

20.

YOUR SUCC

Where does the headquarter of the

Shanghai Cooperation is located ?
(A) Shanghai, China

(B) Beijing, China

(C) New Delhi, India

(D) None of the above

What is the acronym “PAN" stands
for, which is a 10 digit alpha-numeric
number allotted by the IT Department

to tax payers ?

(A) Permanent Account Number
(B) Permanent Accessible Number
(C) Premium Account Number

(D) None of the above

What is the main aim of the Kayakalp

awards of Government of India ?

(A) Promote cleanliness, hygiene and
infection control practices in public
health facilities

(B) Promote women participation in
economic activities in the country

(C) To provide electrification to rural
remote area

(D) None of the above
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15.  Tsguld g1 T9aHT & fore fraa geegi =1

i foram st &, <Y fop e dfeem o
FE TR 7
(A) 10 Ha=g
(B) 12T
(C) 159aw
(D) 3% H @ I TE
16. 9T wfaum & drwasm Y tfirewan
TEE T T oA T R 7
(A) 545
(B) 543
(C) 552
(D) 3 & & 1S &
17, Jfauisa uRyg 1 3eqe] S a1 g ?
(A) 3o Tt
(B) Trsggcht
(C) AT Tie
(D) 3% % & g el
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(A) =TS, ==

(8) fifsm, ==

(C) % fegh, wra

(D) 3 H @ 1S TE

Gfdrener “PAN” w1 forea a7 B, Y fo6
T SNt e g o arared s fa
TR TS 10 37 i 76T AR G § 7

(A) THHE 3THEE F

(B) "z wsRfbEe Jan

(C) ifam arhEe de

(D) o H & g TE

WA §UHR o HIhed QORI hl T

AR 7

(A) Tereesdl, HobTs 3 Eshuor o 3
1 S W giagredt § yar s

(B) < anffes nfafafRr o nfgenaii i

ArfieRl ST
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22.

23.

24,

25.
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ii) General Intelligence and Reasoning Abilitv%mDIRESU

The sum of the digits in a three digit
number is 12. If the digits are reversed
the number is increased by 495 but
reversing only of the ten’s and unit
digits increases the number by 36. The
number is

(A) 327 (B) 372
(C) 237 (D) 273

A firm produces 50 units of a product
for ¥ 320 and 80 units for ¥ 380.
Considering the cost curve to be a
straight line the cost of producing 110
units to be estimated as

(A) 400 (B) 420

(C) 440 (D) none

In a family ‘R’ is married to ‘M’. ‘M’ is a
brother of ‘K’ who is ‘Z's mother. ‘R’ has
3 children, 1 son and 2 daughter with
one daughter married. ‘B’ is the sister-
in-law to ‘D’. ‘A’ is brother of ‘C’. How is
‘A’ related to Z' ?

(A) cousin brother (B) cousin sister
(C) aunty (D) uncle

A walks Southwards then turns right
again and then left and again left. In
which direction is he from the starting
point ?

(A) South West (B) South East
(C) North West (D) North East

If RAMAN is written as 12325 and
DINESH as 675489, how HAMAM is
written ?

(A) 92323 (B) 92233
(C) 93233 (D) 93292
1,9, 25, 49, 81, 121, ?

(A) 225 (B) 289
(C) 169 (D) 144

* @piResuLTE ¢
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27. Find odd number out 1, 5, 14, 30, 51,

55, 91.
(A) 30 (B) 55
(C) 51 (D) 91

Direction for the Q. No. 28 and 29.

5 people A, B, C, D and E have 5 different
brands of colour TV's Mi, BPL, Samsung, LG
and Koriyo and play 5 instruments Flute, Piano,
Drums, Guitar, Trumpet. Following conditions
are to be followed.

1. B does not have Mi or Samsung and plays
Piano.

A has BPL and plays Drums.
D has either Koriyo or LG.
The one who plays Trumpet has LG.
C has either Samsung or Koriyo and E
plays either Piano or Flute.
28. Who has Koriyo ?
(A) A
(C) C
29. D plays and owns
(A) Trumpet and LG
(B) Piano and LG
(C) Trumpet and Koriyo
(D) Data inadequate
For questions 30 and 31 refer to the data

below : jndiresult.in whatsapp - 9352018749

A@B=A+£, A#B=A+§~—B
AB A

Sl b o 10

(B) B
(D) D

A&B=§-B——B, AAB=A—§+B
A A

30. (AAB)+(A#B)=
(A) 2(A#B)  (B) A&%@B
(C) 2A (D) A#B
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23.
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26.
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oA 370 o BT S SR S AN 122 1 3l
37! T S SIg T ToaT STTU T ST 495 S ST
T | T FAT RIS 3TN ]IS o 37 1 Iodl A

Y 37 1 A 36 9 Sl 2K & | 98 §eAT R
(A) 327 (B) 372
(C) 237 (D) 273

T & Ic1E I 50 AT T 320 I
80 THTSAT T 380 T IcqTiad LAl & | AN

5 ! T A 5 110 31541 o 3ca1e
&1 IIHM 8

(A) 400 (B) 420

(C) 440 (D) 13 &

u% aftar § ‘R w1 faame ‘m A gan R |
‘MK FAZENZ AR | 'R FdH
a8, 19 AR 2 9fai v a1 3
foafea s | 'B, DR AR | ‘A, ‘C H
YER | ‘AR Z AT EEY ® 2

(B) THLG wed

(D) ®HI

A =fegor il IR Ierd &, 9 gl @ 3R
O aTd gea gA: 9TC gear © | T

fgdaefrafemag ?

(A) sfqurafeem (B) sfaurgd

(C) Imufyem (D) IWE

7f& RAMAN 31 12325 forad & 37 DINESH
%l 675489, a1 HAMAM %! & ferat 2
(A) 92323 (B) 92233

(C) 93233 (D) 93292

1,9, 25, 49, 81, 121, ?

(A) 225 (B) 289

(C) 169 (D) 144
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27. way = wifu) 1, 5, 14, 30, 51, 55, 91

(A) 30 (B) 55
(C) 51 (D) 91
Yy T 28 3 29 & foru g

5 =yfaaal A, B, C, D 37 E % Y 5 317 518 &
i 1t Mi, BPL, 85@T, LG 3T hIfEl & 35
e S, T, g1, fer o g a9 2
et vaf st QU s 2 |

1. B9 Mi 31 &ma 7 8 2k foam semar 2 |
2. A% Y BPL 3 A sEIa1 2 |

3. DHFIEAARATLGR |

4. IR NG S 2 IHFTE LG R |

5. C %98 a1 &uen 71 S & 3% E T ar e

7 gl SR |

28. fras g =wIfEi ® ?
(A) A (B) B
(€10 (D) D

D SVdia3N3ITHIE____ 2|
(A) T IR LG
(B) Toami 3R LG
(C) T AR =IfE
(D) 3T 9T

39 30 3R 31 g Fr=forfaa sifwet @1 wm o |
A@B=A+C A#B-A+2_B
AB A

29.

A&B=E—B, AABzA—E+B
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30. (AAB)+(A#B)=
B

(A) 2/(A# B) (B) A&—@B

(C) 2A (D) A#B
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32.

33.

34.
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If A=3, B=6, then A@B, A#B,
A&B are

(A)
(B)
(C)
(D)

multiples of 3
negative values
positive values

real values

PETAL : FLOWER : :

(A) SALT : PEPPER

(B) TIRE :BICYCLE

(C) BASE :BALL

(D) SANDALS : SHOES

Here are some words translated from
an artificial language.

daftafoni means advisement
imodafta means misadvise

imolokti means misconduct

Which word could mean ‘statement’ ?

(A) kratafoni
(C) loktifoni

(B) kratadafta
(D) daftaimo

All the tulips in Zoe’s garden are white.

All the pansies in Zoe's garden are
yellow:!

All the flowers in Zoe's garden are either
white or yellow

If the first two statements are true, the third

statement is

(A) true (B) false
uncertaln (D) allA,B,C
NDIRE ULTE

YOUR SUCCESS PARTMNER

35.

36.

37.

38.

39.

40,

MKG-XX/TECHSOC/1T/06
INDIRESULTE

[ Vﬂl.lk SUCCESS PARTNER

Fact 1: All drink mixes are beverages.
Fact 2 : All beverages are drinkable.
Fact 3 : Some beverages are red.

Which of the following statements must
also be a fact ?

I. Some drink mixes are red

Il. All beverages are drink mixes.
[ll.  All red drink mixes are drinkable.
(A) |only (B) Il only
(C) landlll (D) none

Find the missing number.
1,2, 6,7, 21, 22.66, 7. 201
(A) 69 (B) 68
(C) 67 (D) 79

If PALAM could be given the code 43.
What code number can be given to
SANTACRUZ ?

(A) 123 (B) 85

(C) 120 125

A is B’s brother. C is A’s mother. D is
C's father. F is A’s son. How is F related
toD ?

(A) Son

(B) Grandson

(C) Grand-grandson

(D) Grand-daughter

BANK : CBOL : : GROVE :

(A) SPOMP (B) HSPWF

(C) EVORG (D) PSWFH

6 children A, B, C, D, E and F are

standing in a row. B is between F and
D. E is between A and C, A does not
stand next to right F or D. C does not
stand next to D. F is between which of
the following pairs of children ?

(A) B&E (B) B&C

(C) B&D (D) B& A
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31. IR A=3,B=6d A@B, A#B,
A&B?®

(A) 3% T

(B) FUITeH AT
(C) €TeHS TH
(D) aTfere A

32. ‘i‘@%ﬁ:ﬁ::
(A) s : frd
(B) TR : Arsferet
(C) STYR : g
(D) ¥ee : 5

33. THFHOH ANV FS vee Ifed ek ford
TE |
daftafoni &1 374 ® advisement
imodafta T 274  misadvise
imolokti =T 312 8 misconduct
fore w152 %1 31 ‘statement ST TFAI R 2
(A) kratafoni

(C) loktifoni

(B) kratadafta
(D) daftaimo

34. S amd aft gfow ade € |
St & a1 # geft s el © )
S % o § weft g I @ i # |

e gt 31 U9 T § a1 e we R
(A) ¥F
(C) ffrasa

(B) ™
(D) |t A, B, C

A1- %mpﬁlﬁﬁﬂ.lg

35.

36.

37.

38.

39.

40.
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a1 ofi v fagur ag € |
qe 2 i iy diR I € |
T3 FIWATE |
Frafafaa d @ FR-A wemaza g 7

. Fo 9 fgu e € |

. gt o fgor €

. @t et 9 fhsror R G §

(A) ad | (B) Fa Il
(C) 131 (D) +1g e

e w g |
1,2,6,7, 21, 22, 66, ?, 201

(A) 69 (B) 68

(C) 67 (D) 79

afd PALAM &1 % 438, @ SANTACRUZ
%1 % &M

(A) 123 (B) 85

(C) 120 (D) 125

A BHIMER |C, AR T s | D, C % i
BIFAFFR IFRDARIGER?

(A)
(B) W
(C) WA
(D) 96t
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BANK : CBOL : : GROVE :
(A) SPOMP (B) HSPWF
(C) EVORG (D) PSWFH

6= A, B, C, D, E 3R F us ufe # @2
TIBFIMDHEAHAE |E A3MC
F =8, A Fa1DF gia o 7 @er |
C,DE M T well FiFh i ?
(A) BIRE (B) B3R C
(C) B3 D (D) B3NA
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43.

44.

45.
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iii) Arithmetical and Numerical Ability Q‘//)|N .I SU

A toy in the form of a cone of radius
3.5 cm is mounted on a hemisphere of
same radius. If the total height of the toy
is 15.5 cm then the total surface area of
the toy is

(A) 2145cm?  (B) 216 cm?
(C) 225cm? (D) 361 cm?

The least number when divided by 18,

24, 56 leaves no remainder is
(A) 405 (B) 504

(C) 360 (D) None of these

The two numbers whose sum is 27 and
product is 182 are

(A) 24,3 (B) 13,14

(C) 15,12 (D) 11,16

The valuef/s of k in the quadratic equation
2x2 + kx + 3 = 0 if the roots of the equation
are equal is/are

(a) V6 ®) V7

If the 3™ and 9" terms of an AP
(Arithmetic Progression) are 4 and — 8
respectively, then the term of AP which
is zero is

(A) 4 (B) 5

(C) 6 D) 3

YOUR UCCESS PARTHNER

46. Acando ajob in 6 hours, B can do the
same job in 8 hours. Then the number
of hours A and B take if they complete
the work together, is equal to

(A) 4hrs (B) g,;lhrs

(C) %‘,hrs (D) none of these

47. The present ages of two brothers is in
the ratio 3 : 4. If 4 years ago their ages
were in the ratio 2 : 3, their present ages
are

(A) 30and 40 (B) 15and 20
(C) 12and 16 (D) none of these

48. If a.and B are the roots of the eauation
2x% — 10x + 5 = 0 then the value of

%+%=

(A) 8 (B) 6
1
©) 3 (D) -8

49. If 6x + 3y = 6xy, 2x + 4y = 5xy then
(X, y) =

(A) (1,2 B) (2,1)

: &
© |13 0 |3’
indiresult.in whatsapp - 9352018749
50. Sin2A = 2SinA is true when A =
(A) 0° (B) 30°
(C) 45° (D) 60°



T
E-:i;' indiresult.in whatsapp - 9352018749

41.

42.

43.

44,

45.
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W% o AR 1 Uk Raen el Brsan
354, . & It & B o eredel W
v 2| afe faeth 6 S=ng 15.5 4. .
2, 1 faein =1 Fa1 gt &t 2
(A) 2145cm?  (B) 216 cm?

(C) 225cm? (D) 361 cm?

T B1dl 4 B T o=t 18, 24, 56 9
911 fou ST W %@ oft 31 & s=ar

(A) 405 (B) 504

(C) 360 (D) ¥4 ¥ %1 &l
A weTd fSmeh A 27 S I 182 2
(A) 24,3 (B) 13, 14

(C) 15, 12 (D) 11,16

e wrfiertur 2x2 + kx + 3= 08 k&I HH
afe gt % qe 99 8

() /6 B) 7

© 26 (p) 36

e we wurer Aoft 1 e 3 9 af ue 4
3 — 8 FHOTT: B, A1 GHIAX Hvfi =1 98 Ug
STl 3 B

(A) 4 (B) 5

(C) 6 (D) 3

uuuuuuuuuuuuuuuuuu

46.

47.

48.

49.

50.

YOUR SUCCESS PARTNER

A U 14 1 6 921 1 3 B 36 1 &
8 5l H a1 & | B2l oht gt fod A 3
B Tt e & g d &

24
(A) 4 hrs (B) ?hrs

(C) %hrs (D) =7 & s T

AT H &1 HIgd1 ol 377 1 T97d 3 : 4
2 1 3fE 4 o gd 3R STy T ST 22 3
ofT, T 376! IAIH g B

(A) 30340 (B) 153120

C) 123R16 (D) saﬁﬁaﬁéaﬁr

Iqf& o 3R B UH G 2x2 — 10x + 5 =0

el o=

(A) 8 (B) 6
1
(51~ (D) -8

. |
afS 6x + 3y = 6xy, 2x + 4y = 5xy, A (X, y) =

® (1,2) ® (1)
© (1) ® (37

indiresult.in whatsapp - 9352018749
Sin2A = 2SINATHA T TTA =

(A) 0° (B) 30°
(C) 45° (D) 60°
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51.

52.

53.

54.

55.

“
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After revaluation a student's marks was
changed from 80 to 92, the percentage

increase in marks is

(A) 12% (B) 13%

(C) 15% (D) 18%

If angles of a triangle are in A.P. with
the greatest being 84°, the other angles

in the triangle are

(A) 30°, 66° (B) 36°, 60°

(C) 40° 56° (D) none of these

The average age of 10 students is 6 years.
The sum of the ages of 9 of them is
52 years. The age of 10! student is

(A) 10yrs (B) 9yrs

(C) 7yrs (D) 8yrs

The cost price of an article which is sold

for Rs. 220 at a loss of 12%, is
(A) Rs. 280 (B) Rs. 250

(C) Rs. 200 (D) Rs. 225

The duration of time in which a sum of

money triples itself at 8% p.a. simple

interest is
(A) 12.5yrs (B) 13 yrs
(C) 12yrs (D) 25yrs

" (@ NDIRESULTE

56.

87.

58.

99.

60.

OC/1T/06

g

YOUR SUCCESS PARTHNER

The radii of two circles are 8 cm and 6 cm
respectively. The radius of the circle
having area equal to the sum of the
areas of two circles is

(A) 14 cm (B) 2cm

(C) 12cm (D) 10cm

The quotient obtained when

x3 = 3x2 + 5x — 3 is divided x2 — 2 is
(A) 7x-9 (B) x-3

(C) —x+3 (D) -7x+9

1
If a fraction becomes g when 1 is

subtracted from the numerator and it
1
becomes Z when 8 is added to its

denominator, then the fraction is

5 T
(A) 15 B) 13
6 6
G ==L D e
(©) 20 (©) 15
7 _
If cotO = s then cosec2 0=
111 113
(A 51 ®) o4
64 15
(C) =— (DY s

113 64
indiresult.in whatsapp - 9352018749

One card is drawn from a well shuffled
pack of 52 playing cards. The probability
that card will not be an ace is

12
(A) 3 B) 13

1 3
© 3 D) 7%
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al. 56.

52.

53.

54.

55.

T o qvard U faanedi & i
80 T 92 B 77U | 3=l # yfdyd Rl &

(A) 12% (B) 13%

(C) 15% (D) 18%

e s Fige F For giar Joft 7 § ik
[l T 1 84° 2 | Brgst # s 0T &
(A) 30°, 66° (B) 36°, 60°

(C) 40°, 56° (D) 37H ® 13 &

10 fornfeliai i sfma s 6o 8 | ST &
9l Mg 5299 ¢ | 78a foenefi ft sy B
(A) 1094 (B) 9ad

(C) 7= (D) 8ay

12 % 1 2119 9. 220 H o= 718 T 5]
1 %4 o ©
(A) %.280 (B) %. 250

(C) %. 200 (D) %. 225

T8 ary TS 8 % greamy s34 il W W
LCRUNESREEIR Gy S e Rt
(A) 12599 (B) 1394

(C) 12ad (D) 259

uuuuuuuuuuuuuuuuuu
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58.

59.

60.
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< gt st Brsan 8 E.ft. ok 6 €. ). s
® | 39 3 IA1 & &F%al & TN o S

St Tt g <h s gt
(A) 14 €1, (B) 2d.1i.
(C) 12&.1. (D) 10 #.1i.

x3 — 3x2 + 5x — 3 &l x2 — 2 ¥ fawfsa
T I HITHA 2
(A) 7x-9 (B) x-3

(C) —x+3 (D) —7x+9

Y H Y 1 9TH WU g % IEH 8
Gﬁgﬁm%ﬁm%,a‘rf‘w%

5 7
(A 35 (B) 33

6 6
(C) -+ (D) =

»
Ife coth = — dl cosec? 0 =

m 113
A) 64 ®) “6a
64 15
(C) 113 (D) 7
indiresult.in.whatsapp - 9352018749
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I Wifehan for 98 1€ gaehT 7€ B
12 1 |
7 s i
A 13 B 73
1 3
©) 7 D)
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61.

62.

63.

64.

65.
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o=t s sy

56 & o1 &9 1 Ed o 66. TESIMAIved s |Tea@E_ 31
(A) T2 A
(B) W= (A) = (B) g
(C) =i (C) HIFaT=a (D) =
(D) ®rg 67. ferell 5ok ! U 2T | 39 19 A wEATRE
A WieHT 39 JeTaR #1379 } FERIT &
(A) S BT (A) et (B) e
By e 2 (©) #= (D) 13 e
(C) a1 s 68. ‘gAY TR HHE THE § 7
(D) 7 @ =g T (A) Fegen
N SR —— - (B): 751
) i (C) FHYIRZ
" (D) FeFfivE
(C) Yoo 69. ‘WITERT Yo o HY R
(D) s (A) wTg

i _ (B) T
zgﬂﬁwﬁqﬁqﬁl%? i i

(D) &=

(B) 1101 ;
& 70. ‘ufd’ wrsg Y WieeEs G301
©) & (A) (B) dfd
e LA BRI s S R © mesult.in(v?/La@pp - 9352018749
& = 71, ‘wmer weg o o e g R
(A) = (A) Fewm
(B) TETER (B) whfer
(C) TEER (C) TqEhIcHT
(D) TRER (D) it 3R gfewi G
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ve.

73.

74.

75.

BT I3 1 SgA= ¢
(A) BT (B) JHM
(C) B™ (D) I3 &

ST |, | @ | 39 o 1 gdam
(A) St e E

(B) @r@m

(C) w@rum

(D) #h1g &

TRER g AT HAA QU R |F_
FE 2 |

(A) @&
(B)
(C) 3UEH
(D) 3tferm
sireet ferflau :
qeT aref
H. B ESH AT . I 91 aMT
a1, Raeett 3o @, gl IgM
3. HIYT AT 7. fomrufeem &
U AT
3. e WA 9. B HE o
3. tPEm e e §. uwE iR
FHET
dA AT T I
A F I @ T T
B T @ & T ¥H
€C @ & 71 % §
@ T % 9 @
(#WoiREsuLTE

76.

s

78.

79.

80.

uuuuuuuuuuuuuuuuuu

(A) 'R R R faa foe gaaaren
(B) IGYl 1 HEGH

(C) T & A ek ek

(D) ATICHTA H TEdsh SATHATAT

%’ 36 w1ee &1 r=afom wy faflay |
(A) T=t (B) T+t

(C) Trn (D) Ofs+h
ol + HAT =

(A) <=t (B)

(C) < (D) =

‘foreg’ w =1 anffa=ae fafau |

(A) 9+3+F+3+3F+4

(B) 9+3+{+3+g+A+4Y
(C) T+3+{+FH+g+ Y+
(D) 4+3+{+3+q+4Y+3H

Sirgem foflay |

3. Tovafoseh F. g5 O™

3. gl @, FHUT gHE

3. fefieh 7. wEsfe wHE

3. HERd g, srfivE

ary

3. JAAT-JSASAT . qYEy GHE
F a3 33

A) § 9 T @ =

B § T ¥ @ &

C) & T & @ ¥

D) @ 9 & 7T &
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v) English Language and Comprehensmn

Identify the odd word out.

81. (A)
(B)
(C)
(D)

82. (A)
(B)
(C)
(D)

Pond
Tank
Lake
Book

Cube
Square
Foot

Prism

Add suitable question tag.

83. She can swim well,

(A)
(B)
(€)
(D)

84.
(A)
(B)
(©)
(D)

85. Theydon'tneedanything, _

(A)
(B)
(C)

can she
can't she
does she

don’t she

He works hard,

is he

does he
doesn'’t he
did he

can they
don't they
did they

(D) do they

» @moesy

RTNER

?

MKG-XX/TECHSOC/1T/06

FST AT SR Ay

Pick out the word that is nearly opposite in
meaning to the words in capitals.

?

86. DISTRESS
(A) safety
(B) travail
(C) agony
(D) torment

87. GALLANT
(A) bold
(B) stalwart
(&)
(D)

coward
stout

(#)NDIRESULTE

Identify wrongly spelt word.

88. (A)
(B)
(C)
(D)
89. (A)
(B)

(C)

(D)

ARIAL

WHIMS

REVERIE
SPARKLE
RHYTHEM
FASCINATE

INDULGE
QUAINT

Fill in the blanks with appropriate article if

necessary.

90. She has failed in

(A) a
(B) the
(C) an

English.

(D) not needed
indiresult.in whatsapp - 9352018749
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He is ___ best player in the
team.

(A) a

(B) an
(C) the
(D) not needed

We need half pound of sugar.
(A) a

(B) a

(C) the
(D) not needed

Fill in the blanks with appropriate preposition.

93.

94.

95.

-19-

The picture hangs __my bed.
(A) on

(B) up

(C) above

(D) at

You should not go ___ the football
ground.

(A) in
(B)
(C) on
(D)

into

to

He lives in the house _ the river.

A

C

(A)
(B) on
(C)
(D)

Fill in the blanks with suitable verb form.

96. They have been _____ since morning.
) working
(B) worked
) works
)

work
'L

97. Last Sunday we _there.
(A) play

(B) have played

(C) were playing

(D) had played

Identify the tense in the following,sentences.

98. | have been working here for ten year. -,
(A) present perfect .

B) present continuous .. ..

2

(B)
(C) present perfect continuous
(D)

past continuous i

99. In my youth | took exercise everyday. .

A) present tense

)
B) past indefinite
C)

D) future tense

indiresult.in whatsapp 9352018749
100. She has applied for Ieaveﬂ__

(
(
( past perfect
(

(A) present continuous
(B) simple present :
(C) present perfect

(D) simple past
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101.

102.

103.

104.

105.
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SECTION - B J*
Post Specific Subject - Related Questions Qa INDIRESULT

If the temperature in the field is more

than the temperature at which the tape

was standardised then the correction

will be

(A) Additive

(B) Subtractive

(C) Zero

(D) Sometimes Subtractive and
sometimes zero

If a forebearing of a line AB is 266 degree
30 minutes then its backbearing is

(A) 176 degree 30 minutes

(B) 86 degree 30 minutes

(C) 356 degree 30 minutes

(D) 266 degree 30 minutes

Which of these is a self-reading staff ?
(A) Target staff

(B) Telescopic staff

(C) Cross staff

(D) Staff equipped with vernier

If contour line of different elevation
intersect only in case of

(A) Hill

(B) Valley

(C) Overhanging cliff

(D) All of the above

An instrument used for reproducing,
enlarging or reducing the map is called
(A) Planimeter

(B) Pantagraph

(C) Clinometer

(D) Ceylon ghat tracer

(#)piResuLTE

OUR SUCCESS PARTNER

106.

107.

108.

109.

110.

Multiplication constant of a tacheometric
measurements is
(A) fli

(C) i

(B) fxi
(D) f+i
is one of the permanent
adjustment of a level.
(A) Levelling up
(B) Elimination of parallax
(C) Setting up
(D) Adjustment of line of collimation
Angle at the point of curve between the

back tangent and the chord from point
of curve to that point is called

(A) Interior angle
(B) Deflection angle
(C) Central angle

(D) Angle of banking

A reverse curve consists of

(A) Asingle curve of a circle connecting
two straights

Two curves of different radii bending
in same direction

Two curves of equal radii bending
in same direction

Two curves of opposite direction
that join at a common tangent
point

(B)
(C)

(D)

The amount by which the outer end of
the road or outer rail is raised above the
inner one is called

(A) Elevation

(B) Super elevation

(C) Camber

(D) Kerb

indiresult.in whatsapp - 9352018749
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IS &1 H qTaHH 36 a9 § A e
9 29 <kl AR foRat 72T o Eene
B S

(A) FTTeHH

(B) faammegsr

(C) 3=

D) 1 fedrTTedss 3K fl I

a2 v @ AB i us wrfeaiar 266 el
30 fome B, a1 3t Serfaafon 2

(A) 176 feifi 30 fiFme

(B) 86 et 30 fire

(C) 356 ferft 30 fame

(D) 266 feft 30 fare
fafefea e F-srwusa s 2 7
(A) &I %

B) giasfl @i

(C) =HEWH

(D) afarl w%

fafir= 3= < au=1 TaT Hae
% AT § Ufdwede Fidl 2
(A) HETS!
(B) Hrdl
) I AHdl A
(D) 3 Gt
R 1 gA3caTfed 81 A 3 BT A
% fore g 3w 2
(A) AT HeX

106.

107.

108.

109.

110.
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(A) i (B) fxi

(C) iff (D) f+i
% T ok g gEEeE H
T 2|

A) T

B) &M 1 BT ST |
(C) T1iyd AT v

(D) HIH {1 &1 GHTITSH

(
(

gy T4 1G] aﬁvaaaﬁv@m%ﬁﬁa

da ok g H A0 FEeAd 2l
(A) w0 (B) faEeE i
(C) Fa=m (D) sfFEm
UH IS g ad B 2l

(A) 21 Hiet =hl =l Siied U 9 ol U 9
) T= Br=enati i 2 9% 91w € femn
4 gedi 8
C) a9 F=enati & 21 9% 31 U & fewn
T gedi &
(D) Tordia fewm <t <1 a6 < @ Tast
@ o forg W Sfred 2
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113.

114.

The radius of the curvature at any point
shall vary inversely with the distance

from the beginning of the curve, such a
curve is called

(A) Clothoid
(B)
(C) Lemniscate
(D)

Cubic parabola

Compound curve

Process of spacing of contours
proportionately between the plotted
ground points established by indirect
method is called

(A) Contour interval

(B) Horizontal equivalent
(C) Interpolation of contour
(D) None of these

Factor of safety means

(A) The ratio of ultimate stress to the
working stress

(B) The ratio of working stress to the
ultimate stress

(C) The ratio of breaking stress to the
working stress

(D) The ratio of working stress to the
breaking stress

If steel rail is 12.6 meter long and is laid
at a temperature of 24 degree Celsius,
the maximum temperature expected
is 44 degree Celsius, Coefficient of
thermal expansion is 12 x 1076/°C,

____will be the change in length in
the rail.

(A) 0.0066 mm (B) 0.0036 mm
(C) 0 155 mm (D) 3.024 mm

E?)mp,lm - SULTE

118,

116.

137

118.

119,

120.

o

The relation between modulus of
elasticity [E] and modulus of rigidity [G]
and poisons ratio [u] is

(A) E=2G[1-y] (B) E=2G[1+y]
(C) E=3G[1-2u](D) E=3G[1+24]
_will be the effective length of

a2m long column, when its both ends
are hinged.

(A) 2m (B) 4m

(C) 1m (D) 1.414m

The assumption made in simple theory
of bending is

(A) The material is heterogeneous

(B) Plane section remains plane even
after bending

(C) Youngs modulus is different in
tension and compression

(D) None of these

Section modulus of a circular section of
diameter “D”" is

(A) 0.0156 D% (B) 0.0625 7D3
(C) 0.031257D3 (D) 0.083 7D3

In a rectangle section, the maximum

shear stress at the neutral axis is
_times the average shear

étress.
(A) 2 (B) 1.5
(C) 0.5 (D) 2.5

In a thin cylinder of thickness ‘t’
subjected to internal pressure ‘p’, then
hoop stress in the cylinder will be

(A) pd/2t (B) pd/at
(C) pd/8st (D) 2pdit

The compression member of truss is
called indiresult.in whatsapp - 9352018749

(A) Column (B) Pier
(C) Tie beam (D) Strut
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(B) 19 qEeE

(C) TR

(D) Ak sk
e faft g wenfya o 7 fogadi &
S FHTIATE H AT ohl TEA i Fisha
FEad] 8l

(A) & AT

(B) &St wHged

(C) A&ATTN T SATUH

(D) T @ IS e

TR & HhT 1 Ad B

(A) 2ifqm gama @ YA gEE #

AT

(B) ®EYA gama ¥ AfqH g=ma *1
SRR

(C) Torism Tema @ wHyia g=E &1

SRRID
(D) wHEfe quma & faaism g &

T
gfe et F1 i 12.6 Her =l | 3R 24°C
A T forsTS 18 8, SgHTG Aferehdn
AN 44°C R, ST faeamo o
12x1076/°C R, a1 & Y @ & gftad
B
(A) 0.0066 mm
(C) 0.155 mm

(B) 0.0036 mm
(D) 3.024 mm
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(A) E=2G[1-y] (B) E=2G[1+4]

(C) E=3G[1-2y] (D) E =3G[1+2y]

oY, e i R ywTE e e,

el 36 1 B FeseR fR §ITd &

(A) 2m (B) 4m

(C) 1m (D) 1.414m

o o FTERYT Rigia o 9978 T8 SAFEwe

?

(A) e 3EEH ?

(B) & % ®1& Hl GHAA hIe GHASA SHT
waTg

(C) 3T 1 HITeh o 3R Tdted | o &

(D) T8 & K T

T8 "D’ &l Toh FATHR FHIE Fl 2 HUT &

(A) 0.0156 D3 (B) 0.0625 7D3

(C) 0.031257D3 (D) 0.083 7D?3

Tsh ATIATHR 12 H, I g8 T Afeshay

A Te 3N A aTe 2l

(A) 2 (B) 1.5

(C) 0.5 (D) 2.5

TR < ‘p’ & A HE t 9T T

Yqel Seid § g9 a1 B

(A) pd/2t (B) pd/at

(C) pa/st (D) 2pdft
indiresult.in whatsapp - 93520 8749
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The treatment method adopted to
remove objectionable taste and odour
and also to remove the dissolved carbon
dioxide is

(A) Sedimentation (B) Screening

(C) Filtration (D) Aeration

Slow mixing or agitating process in

which destabilised colloidal particles are
brought into intimate contact is called

(A) Flocculation

(B) Aeration

(C) Filteration

(D) Sedimentation

For a given soil sample the ratio of the

volume of voids to the volume of soil
solids is called

(A) Porosity (B) Air content
(C) Watercontent (D) Void ratio
The maximum water content at which a

reduction in water content will not cause
a decrease in the volume of soil mass is

(A) Plastic limit

(B) Shrinkage limit

(C) Liquid limit

(D) Reduction limit

Hydrometer is used to determine
(A) Determination of density of soil
(B) Water content of soil

(C) Grain size distribution of soil
(D) Specific gravity

The reaction of cement with water

(A) Exothermic (B) Endothermic
(C) Neutral (D) No reaction

RTNER
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icroscopic level of concrete, the
interfacial region between the particles

of coarse aggregate and hardened
cement paste is

(A) Paste phase

(B) Aggregate phase
(C) Alkaline phase
(D) Transition zone

VICAT apparatus is not used for
(A) Setting time

(B) Permeability

(C) Standard consistency test
(D) All of the above

Los angels test is used to determine
(A) Aggregate impact value

(B) Aggregate abrasion value

(C) Modulus of elasticity of aggregate

(D) Aggregate crushing value

Separation of cement paste from
aggregate is called
(A) Segregation (B) Bleeding

(C) Corrosion (D) Laitance

The time dependent part of the strain
resulting from stress is called

(A) Deflection (B) Creep

(C) Shrinkage (D) Torsion

The chemical reaction between the

hydroxyl ions in the pore water within
concrete and aggregate is called

(A) Sulphate attack

(B) Acid attack

(C) Alkali-aggregate reaction
(D) Carbonation
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is an example for non-
destructive testing method.

(A) Cube compression test
(B) Rebound test

(C) Split tensile test

(D) None of these

As per IS 456:2000, if slump value of
concrete is in between 25 mm to 75 mm
then the degree of workability is

(B) Low

(D) High
circumstances under which

doubly reinforced section of a beam
may be adopted.

(A) Very low
(C) Medium

(A) Toincrease the stiffness of the beam
(B)
(C)
(D)

When shear is more at the support
When width of the section is more
All of these

In RCC beams, shear reinforcement is
provided in the form of

(A) Longitudinal bars

(B) Anchorage length

(C) Vertical stirrups

(D) Hanger bars

The property of a fluid which offers the
resistance to the movement of one layer

of fluid over adjacent layer of the fluid is
known as

(A) Surface tension
(B) Capillarity
(C) Specific density
(D) Viscosity

139.
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Small opening of any cross section on
the side or at bottom of tank called

(A) Orifice

(B) Mouth piece

(C) Borda's mouth piece

(D) All of these

A device used for measuring the rate of
flow of a fluid flowing through a pipe
(B) Pitot tube

(D) Notches

Venturimeter works under the principle
of

(A) Manometer
(C) Piezometer

(A) Francis equation

(B) Pascal’s equation

(C) Bernoulli's equation

(D) None of these

The type flow which the fluid particles

move along well defined path or stream
line and they are parallel is called

(A) Turbulent flow
(B) Rotational flow

(C) Compressible flow

(D) Laminar flow

The force exerted by a jet of wateron a
stationary vertical plate in the direction
of jet is

(A) paVZsin20
(C) pav@

(B) paV? (1+cos0)
(D) paVZcosh

The hydraulic machine which converts
the mechanical energy into hydraulic
energy are called
(A) Turbines

(C) Fan

(B) Pumps
(D) Windmill

indiresult.in whatsapp - 9352018749
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145. Example for a tangential flow impulse
turbine
(A) Francis turbine
(B) Reaction turbine
(C) Kaplan turbine
(D) Pelton wheel turbine

146. The rotating part of a centrifugal pump

is called
(A) Runner
(C) Impeller

(B) Casing

(D) Draft tube

The vertical distance between the centre
line of the pump and the water surface in

the tank to which is delivered is known
as

(A) Suction head

(B) Static head

(C) Manometric head

(D) Delivery head

The rate of flow (Q) through a V-notch
varies as

(A) H2/3 (B) H5/2

(C) H25 (D) H

The ratio between the actual velocity of
jet of liquid at vena contracta and the
theoretical velocity of jet is called

147.

148.

149.

(A) Coefficient of discharge
(B) Coefficient of viscosity
(C) Coefficient of contraction
(D) Coefficient of velocity

150. is used to find flow through

open channel.
(A) Mouth piece (B) Orifice meter

(C) 4 Weir (D) Venturi meter

= (#)INDIRESULTE
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When a fluid is flowing through a pipe,
the major energy loss occurs due to
(A) Friction
(B) Sudden expansion of pipe
(C) Sudden contraction of pipe
(D) Bend in pipe

The bottom surface of a window opening
is known as

(A) Lintel (B) Jamb

(C) Sill (D) Plinth

The joint in which holes are made in the
adjacent stones of dove tail shape and
is filled with molten lead is called

(A) Rugged joint (B) Cramped joint
(C) Dowelled joint(D) Plugged joint
The portion of the brick cut across the
width is called

(A) Queen closer (B) Bat
(C) Mitred closer (D) King closer

The wedge shaped unit fixed of masonry
forming an arch is called

(A) Extrados (B) Intrados
(C) Crown (D) Voussoir

The type of arch where, two arc of a
circle meeting at apex is called

(A) Segmental arch

(B) Gothic arch

(C) Relieving arch

(D) Stilted arch

_indiresult.in whatsapp - 9352018749
Placing a new foundation under an

existing one or strengthening an existing
foundation is called

(A) Shoring (B) Scaffolding
(C) Underpinning (D) Pointing



e
E:EE indiresult.in whatsapp - 9352018749

145

146.

147.

148.

149.

150.

-29

. ?mﬁ@ﬁam ST 2TETEH 1 ISTEL0!

(A) HIfEH ZEEA
CREIEIERIRLCIEE!

(C) FHIeH L&A

(D) Ueed T &

HETNE 9 1 PoHER 9
FEA & |

(A) T (B) &

(C) TR (D) g% TGS

3 1 STt 73, Forad 38 et St @ e ay
1 hE1a T@T o sfte It gl
FEAT B |

(A) =0T ¥

(B) Tferen 3fid

(C) T wfid

(D) ggerh 3

Teh V- o H1E9H 8 9918 2 (Q)

& &Y H T @&l 2|

(A) H2;‘3 (B) H5!2

(C) H25 (D) H

Haar fI W g9 Y 910 & Jredfass 9

gfr{@aiﬁﬁénaﬂaﬁqm FEATd
|

(A) FdTE ToTTeh
(B) TIHT UTTsh
(C) Tege Tomish
(D) I
1 FAT Gol < o T
JeITE T oA o fere gran @ |
(A) HRY dig (B) Aififerg Hiex
(C) .aiu (D) dft HiX

- (#)NDiRESULTE

151,

152.

153.

154.

155.

156.

157.

. MKG-XX/TECHSOC/1T/06
#NDiResuLTz

STe Ush 59 Ueh U139 o H1e99 @ &8dl 8, dl
ECiE S IRIE| % I BIdl 2
(A) BN

(B) UTSY 1 = el

(C) UIEY 1 HATH e

(D) urEy H HIE

T A & Go o3 % aclld 7 #
FEd T |

(A) fees (B) it
() fa= (D) f=ig
a8 W8 58 4 Fg@ Fil U & ISR &

A geoll © T s Sd @ 3Tk 3EH
frerem & s e siran @

(A) fowm S CIEEEIE

(C) HE SIS (D) TS

A1 & GIY-91Y el T 32 FH 9T
FEATAT = |

(A) FHFAST  (B) =2

(C) WL Fesk (D) T TS
Teh A9 ST FomTE it uxft & 3R
CARETE] FeEerd 2 |

(A) sfvEm (B) 3fdvam

(c) e (D) BT Ue

A9 1 YR el T g9 i & =g i
T fierd 2, FHET & |

(A) ATHEA AT

(B) ik 31

(C) fuehifem s

(D) TRees a1

indiresult.in whatsapp - 9352018749
T WSl g % A gwd @ a3

EEEGREzE HEAI ¢ |
(A) TG (B) Thwpifeen
(C) srstfufdm (D) ufsfen




v
% indiresult.in whatsapp - 9352018749

158.

158:

160.

161.

162.

163.

Scaling away patches of plaster of
previous coat due to lack of adhesion
with the under coat is called

(A) Grinning (B) Gauging
(C) Crazing (D) Flaking

does not belong to trussed
type roof system.
(A) Queen post
(C) Mansard
A wall in which the facing and backing
are of two different materials which are

bonded together to ensure common
action under load is

(A) Veneered wall

(B) Faced wall

(C) Cavity wall

(D) Solid masonry wall

(B) King post
(D) Scissor roof

For a Narrow gauge, the distance
between the running faces of two track
rails is

(A) 0.400 m (B) 1.670m

(C) 0.762m (D) 2.000 m

The arm type fixed signals fitted on a

vertical post fixed at the side of a track
are called

(A) Repeater signal
(B) Manual stop signal
(C) Disc signal
(D) Semaphore signal
sleepers are regarded to be best

as it fulfil almost all the requirements of
an ideal sleeper.

(A) Castiron sleeper
(B) Wooden sleeper
(C) Steel sleeper

(D) Concrete sleeper

* (#)INDIRESULTE
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The rainfall mass-curve shows the
variation of

(A)
(B)

Rainfall excess with time

Rainfall intensity with cumulative
rainfall

(C)
(D)

Rainfall intensity with time
Cumulative depth of rainfall against
time

Isohyet may be defined as a line joining
points of

(A) Equal storm duration

(B) Equal rainfall depth

(C) Equal rainfall excess

(D) Equal rainfall velocity

Which one of the following is the critical
mode of failure in a fillet weld ?

(A) Tension (B) Bearing

(C) Shear (D) Crushing

The effective throat thickness for a fillet
weld should not be less than

(A) 1 mm (B) 3mm

(C) 5mm (D) 7 mm

The slenderness ratio in a tension
member as per IS code where reversal

of stress is due to loads other than wind
or seismic should not exceed

(A) 350 (B) 100
(C) 180 (D) 60

indiresult.in whatsapp - 9352018749

Thickness of the gusset plate should
not be less than

(A) 12mm
(C) 6 mm

(B) 8 mm
(D) 4 mm
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AsperiS1893,  assesses
maximum severity of shaking that is
anticipated in the region

(A) Time period

(B) Response reduction factor

(C) Importance factor

(D) Zone factor

For a material like structural steel,
_is defined as the ratio

of plastic moment and yield moment of
the section.

(A) Sizefactor (B) Shape factor
(C) Material factor (D) Moment factor

Individual wire wound helically around
a central core is called

(A) Wire rope (B) Cable

(C) Strand (D) Rod

The distance between the centres of two
consecutive bolts measuring along the
row of bolt is

(A) Enddistance (B) Edge distance

(C) Gauge (D) Pitch

N is provided to hold the
various parts of column straight, parallel
ata correct distance apart to equalize the
stress distribution in steel structures.

(A) Batten (B) Angle

(C) Lacing (D) Splices

The crops are sown by the beginning
of the southwest monsoon and are

harvested in autumn is called
crops.

(A) Kharif
(C) Eight month

(B) Rabi
(D) Perennial
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depth of water required by a crop
during the entire period the crop is in
the field is

(A) Duty (B) Base period
(C) Delta (D) Kor depth

The canal which is not used for direct
irrigation is called

(A) Major distributaries

(B) Minor distributaries

(C) Main canal

(D) Field channel

The overflow portion of dam over
which surplus discharge flows from the
reservoir to the downstream is known as
(A) Crest gate (B) Weir

(C) Barrages (D) Spillway

A flood control reservoir with gate
installation at spillway and outlets is
(A) Multipurpose reservoir

(B) Detention basin

(C) Retarding reservoir

(D) All of the above

High flood level of the drain is much
below the bottom of the canal trough so
that drainage water flows under gravity
freely, such type of cross drainage work
is called

(A) canal siphon

(B) super passage
(C) level crossing
(D) aqueduct

indiresult.in whatsapp - 9352018749

rocks are formed by the
change in character of the pre existing
rocks.

(A) Metamorphic rock
(B) Igneous rock
(C) Sedimentary rock
(D) Plutonic rock
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Tempering means

(A)

The process of intimate or
harmonious mixing

Operation of moulding
Process of bringing the clay into a
proper degree of hardness

Process of cleaning the clay and
removal of impurities

(B)
(C)

(D)

The lime which is obtained by the
calcination of pure lime stone is known as

(A) Hydrated lime (B) Quick lime
(C) Slakedlime (D) None of these

During the setting action of the cement,
the compound which is responsible for
imparting strength to the cement in the
early period of setting is

(A) Tricalcium silicate

(B) Tricalcium aluminate

(C) Tetracalcium alumina ferrite

(D) Dicalcium silicate

The presence of moisture in sand

increases the volume of sand, this
phenomenon is called as

(A) Bulging of sand
(B) Fineness of sand
(C) Water sand ratio
(D) Bulking of sand

Characteristic of an ideal paint is
(A) It should dry quickly
(B) Easily removable with water

(C) Itshould possess a good spreading
power

(D) &II of the above

RTHER

187.

188.

189.

190.

191;

MKG-XX/TECHSOC/1T/06

%INDIRESULTE

YOUR SUCCESS PARTNER

The oxygen required for the micro-
organism to carryout biological
decomposition of organic matter in waste
water under aerobic conditions is called

(A) BOD (B) COD
(C) TOD (D) THOD
are installed ahead of
sedimentation tank, to remove floating

substances like grease, oil, fat, soaps,
wax efc.

(A) Detritus tank

(B) Grit chamber

(C) Screening chamber

(D) Skimming tank

Presence of nitrate in the waste water
indicates

(A) Initial stage of decomposition of
‘organic matter

Fully oxidised organic matter

Presence of organic waste in waste
water

Partly oxidised organic matter

(B)
(C)

(D)

The contract where the contractor
quotes rates for the item of work
exclusive of the elements of materials
which are supplied by the department
free of cost is

(A) Lumpsum contract

(B) Percentage rate contract

(C) Labour contract

(D) Item rate contract
________isanamount of compensation
payable by a contractor to the owner

due to delayed construction having no
relationship with the real damage.

(A) Retention money
(B) Earnest money
(C) Security deposit
(D) Ligquidated damage
indiresult.in whatsapp - 9352018749
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182.

183.

184.

185.

186.
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188.

(B) COD
(D) THOD
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193.

194,

195.

1986.

The amount of flexibility for a non critical
activity without effecting the completion
period of the project is called

(A) Redundant activity

(B) Float

(C) Critical path

(D) Dummy

Value of dismantled materials of a
property at the end of its utility period
and absolutely useless is called

(A) Salvage value

(B) Scrap value

(C) Potential value

(D) Monopoly value

The loss in the value of property due to
change in fashion and design is

(A) Depreciation

(B) Amortization

(C) Appreciation

(D) Obsolescence

The representative fraction for a scale
1cm =20m is
(A) 1/2

(C) 1/200

(B) 1/20
(D) 1/2000

is used to measure an angle
or to set-off an angle in engineering
drawings.

(A) Scale of chords
(B) Plain scale
(C) Diagonal scale

(D) Vernier scale
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197. Inchemical toilet,

is added
to the water in the acid proof metal tank
to stabilise the organic matter present

in the excreta.

(A) Sodium chloride
(B) Caustic soda
(C) Baking soda
(D) None of these

198. Allnon-putrescible waste like rags, paper,

glass, plastic bottle, excluding ashes are
called

(A) Garbage

(B) Ashes

(C) Rubbish

(D) Inorganic waste

199. is provided to reduce the water

hammer pressure in the penstock.
(A) Trashrack (B) Fore bay

(C) Septictank (D) Surge tank
indiresult.in whatsapp - 9352018749
200. The force parallel to the cross section

of bar is called

(A) Shear force

(B) Compression force
(C) Tensile force

(D) Axial force
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